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1 �����  

 ���M�/ N	.�O� P	!OQ%��
- �	/�R�  HQS��� ��3	T��� �	U�?��� ����7�� @V	!�� W� ��'X� 6	7!�� �	Y�Z �*C��
 +	*!�� �,��
[�\U .^J�G� �_� �.89� ���M�/ FY?
 ����.�'�� �	0��	
 ��������� @�'`� a�I��+���� B N���� H����/ bO� �	/�R�  .

V���� N	89 	.�C � �	c'�S?�� �.89� H�- �C�3� L	��	d 5�e� f	I!�� H����/ ��'X� ��	���� N	89� f	I!�� ����/ b'X� g�
 f	I9 H�- W� �*I9 h/ N	8!���(P-MP) . +	*!�� �,��- bY'C��� 6	7!�� �.89�
 ���	�� H3��
 �.89:� i\O ��.�� hYj�

(BWA).  

��� @	A B H��0 ���	Z3� k'- @��`� &e g����� ��������� �.89:� 3�*�� L��89� �	0��� 3	?�9� F#	�1 "'��� 	.�% ;�.�
��������� . [�\U� ����.�'�� �	0��	
 ��������� �.89:	
 "'��� 	.�% 3	?�9�	
 �G	R� l#	�!�� h/ L���- ��G���� i\O 2����

��!��� "#��$ m�
.  

2 ������ �	�
�  

n	7�3�� g_�/ ��	!�
 3	�o �� 5�'p N	89 <�*q �!- FS?�� k'- K��� Q%�� r� s��� bY� 23:� t*C +�% H�-	I�� �*X� 
�!��/ �I*!/ Fp�� K'.����� h/ D�u��� ���'� �/�R� . K'.����� ��-� 	�%��u�
�*�� &�d 	��R� ;Td QS�� �� hYj�

��������� �/�R� h/ h���7���� .��\O N�I� n�7�����
 k'- N�I� v	��	
 &TJ'� L	�#	�d� L	06�w  B v	��� x#	�R <��
 
�'�7/ �	
	�d k'- N�I� ���	Z3� Q%��� �!��/ �I*!/ .�� �-��_ m�
� y	�!�� z	*S�� h- l�	!�� KO��'� L	06�w L	,�� N�I

�*����� ;�.����.  
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1.2  ������ ���	  

�!I� B v	��	
 &T`� @	.�d� ;��I�� �I��$ F,%� F{.���	*�/ F.���� |�� ��Z:� ;C3  �-��_ h/ H3�	G ��I�Id �	�
��}3:� ~�3	,���� v	��� h- �'�7/ �	�*�/ . H�I7�� ����1.1.2  3	��p	
��Z:� ;C3 �	�!I� �	�'*�/ . �[�6 g/�

�   B �.#�/ �	�*�/ �-��_ �%���h/ ������ ��� "$	! � h/ H�I7�� B ��G��� b#	�d�� �6�.!�� @	.��C	
 kG��2.1.2.  

1.1.2  ��
��
����	 ��� �  

 ��*S��� h- �	�*�/ �-��_ 	��?
 �%��� |�� "$	!�� B ��Z:� ;C3 �	�!I� @	.��C	
 ��*S��	
 "�_� ��!� k'- @��`� hYj
��}3:� ~�3	,��	
 . W� L��89� n	7�3� �������� ��_� 3	?�9�� bC�!O 5��
 &��I� @	.��C� hYj ���!��� Q��� @��$�

;�I��/ <p �-.  

��&��I�h/  ������  W�:� ���
 ��Y� ���*S��� ;��I�������� ����� <p �- (LoS) 3��I1 %60 F!��% �I*!/ ���
 h/ 
 �U\� � ��%	}� H3	�p �	.,� L	�%	U W�:�) FY?�� �89�(1 . ����9�� &��
 H3	�R� ��Y��H���Z	d B �� �3	p 

����� <p .�_� �
 ��C�R� �	�*��� H�-	_  L��{� �	�*��� H�-	_ h.,�� �� &e� ��Z:	
 ��!��� �_� h/ v	��	
 �G	
Q��� @�$ k'- ��_���� v	���� ��}3:� ~�3	,�'� L	I�_� . "'��� 	.�% 23:� z	!�� L	,�� 3	��-�� B \p�� �� &e�

 ��Q��	
 h- ��M� |��km 2 .�bS�!�  z��0�� �\O 2��u:�� v	��� 3	��-� �G	!�U y	�!�� z	*S����!/��Z4� .  

 FY?��1  

�	
����
 ����� �� ������ ��	�� �� ��� �� �	� �� �
� �� �!  
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!Y�� L	�}�/ L	�#	�d� L	I%��� ��Z:� ;C3 �6	.!
 �93	I�� H3	Z�� x#	�p �	C	�_ ^!�
	c B HQ�U ��QS� L	,�� ^!�
 
 H3	Z�� ��Q�1 "'��� 	.�% �-	���� g_��� &�d�3	p����� <p  . ��	��	
�� �	�*��� �-��I� H���X� �_��� W� L��89

�!��/ ��Q�1 "'��� 	.�% �/�R� ��-�!
 ��!��� hYj � ���I�I`� v	��� ��?
� ����� <p r�Z g��� .  
� hYj � &����QT?��� 3	TZ:� 	.�C �� y	�!�� z	*S������	���  k'{�� ��	`� B K���� ��/�R� B L	/	O L	$	*�� �

�	�*��� H�-	_ B y	�!�� z	*S�	
 �'���� �	�*��� K.,�.  
�	C	�I�� ^!�
 �_�����,d �I*!/ B �/�R� Q%��
 "'��� 	.�% /���,d r�Z ���06�w � ��Q���
 h�3�,��� K'.����� ��- �

/ h- ��	!�� �	Y�9�� ��Q�H����/ &��
 [�6� �y	�!�� z	*S��� v	��� ��Q���
 h�3�,��� K'.����� ��- h/ Q{Y
 F_� 
b#���� �/Md �J�% "�} � �	��	
� �` H3��} �	C	Y�9�� D	�) H�I7�� �89�(1.2.4.  

	�*�/ H�-	_ ��Z:� ;C3 ��!I� �*C��
 ;��I�'� �'.����� �	�*��� H�-	_ ��Y� �� hYj� F.?� z	�Z:� �� �c0�/ �'�7/ �
� 	c'YZ� ��I��� n	7�3	
 �'��/ �	/�'�/� �7'�=�� v	�.'� ��%	7Y�� f�*R�� ��}3:� ~�3	,��� n	7�3� F�{� �	C� k'-

 3	TZ� FYZ B y	�!�� z	*S����%�-�.A �� ����	3	TZ�  . hYj �F��
 FJU� B����� <p Q�/ ���
@	.��C�  H�-	_ 
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 ������� �	
	� ����
��� �����	 ���� �� �����	 ��� ��� ������	 ����!��"	 #$� %&�'( )	&* �&�+ ��,�-.� �/
0 
) �234	 .��	(1.  

 �234	1  

������� �	
��� ��
	�� ��������  

����� ����� ����� �
�����  
(m) 

�����
 �
�����  
(m) 

��6�7	 89��:
�	 ����� ����!��	 �;,< 50 1 

=	>�, 

?�,��	 @��A�	 

 &B �C*&=	 ��D&:�	 �;,E�	 F�&G H���
������	 ���,
�"	 2I @JE�	 

  
1 

  
1 

2.1.2  ���!"#� $%�����  

 ��.��� K�� LM&� NO �,$����(Tx) �,�
$���2 (Rx) PQ&;9 K�M&=	 �9RS K� .T,�	 UV W$� 
&*2 ���
X	 �G�X LY 
�- QI Z ����
=	 �"��
X"	 [,� L�9 Q&;9 ��E
�"	 W$� Z Q2
 3�� �,�
$=	2 ��.=	 �G&9 (R�	 \��E�	 \�!��	 

[,=	 \��E�	 �C�0 ]�9 ^�	 �����	 . �;E�	 K,921J�3�_	 �;E�	  `.�92 ���a	 bR_ 
&�,�	 ��
��=	 Z ����
$=	 (1) . Z2
c d��
� 2I �/�$� ��6�7	 89��:
�	 QI e.
!9 f�&���	 	RS����=	 ����=	 Z g��h ��.  

 iD���	 ���� 3�� \��E�	 \�!��	 j��92hlos����
�	 �A�T��� :  

  
rx

rxtxlos

txlos

r

hhr
hh

)–(
–= (1) 

l�X:  
  htx :  e�7	 #�� m&0 ��.=	 \�!��	  
  hrx :   �0�$=	 3�� �,�
$=	 \�!��	rrx  
  rlos :  iD���	2 ��.=	 K� �0�$=	.  

�,
� >�,=	 QI e.
0	 	�O2n PU�&
=	 Z o�
�� �;E� F3��;K
��� K� F
&*&=	 >�,=	 
3� .93��  . 
&*2 ���
X	 Q&;92
 Z \��<p�
��- .T,�	 UV W$�:  

  ∏
=

<=
r
b

b

loshPLoSP

1

)height(building_)( (2) 

 l�XbrF�&,�=	 >�,=	 
3� j�� �39 .  
������ qrh U�$,�	 f�&���	 	RS s��
92:  

t  α:   �,$�	�X�$= NO >�,=	 �C��A� ^�	 �X�$=	 ���;�	 )\�!��"	 �� .���	 `.T�(v  
t  β:   �- Z >�,=	 
3� U�&
���X�$� F3X2) >�,=	/(km

2v  
t  γ:   ���M>�,=	 ����!��	 L9x&� 
3y FWA
�.  

 �
��� Pz.
�=	 J�9	� L9x&� NO �,$���� �����	 FWA
=	 γ
X	 .�-7	 [,=	 \�!��	  )"��){&��I .( �;E�	 K,922 K� d���
�	 s,� α 
2β. K�;E��2 2I (22{ ( ���M 8!� p�
���2 e�7	 #�� 3�� ���A
�	 ����� 8!�α �r��!� 
&*2 LM&
=	 �� �;�2 P

 .�-I �;E�	 Z W$=	 �9&� 3��2I ( �;E�	 Z |��2{ .( ������� �;n "2αK/6&=	 K��}=	 K� d���
�	 �S3X2  Z 
 �;E�	2. 2 K�;E�	 Z |$!� &S >�,=	 \�!��	 Q�- 	�O2I (22{ ( ���
X	 Q&;9s~a	 [,c |�� �MI FWAG Q�,� F3�� 

W,- 3X	2.  
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 �;E�	2  
���	��� �
��� 
��� ����������  

 ��� �� ���������� �!"#� ���� ��� $������  

 

(�( �

���� ��	
 ��
 ���� �	� �	


��
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 NO �,$�����
�"	 �� �� i���=	 LM	&� >�,=	 LM	&� NO �9.:a	 |,< ����=	 z2	.
� P\�!��"	 �����α K� 0,12 0,8 z2	.
�2 
 ����=	β K� 7502 100p	&
�	 j�� .  

�.��92 J�9	� ���
X	 L9x&� `P(h) \�!��r� h ����=	  γp�
��- :  

(3)  P(h) = 
2

2

–
2

2

e

γ

γ
h

h

  

3.1.2 � �������	�
��
�  

g��- 	�O α2 β2 γ  RD3�� ��&���p�
��- .T,�	 UV Z ���A
�	 s$y:  
 |�&� \��< �2.� e.
!9km 1 �S
3� Q�,� m&0 β  	�O�� >�,=	 bRS g��-
 ���Z �;,< �����.� . U�0 )	@d* QI �c2

 b�3Mα Pe�7	 �� j�A� Q&;9Z F�&,�=	 >�,��� LM&
=	 
3��	  3X	2 .
�&��- J�9 ��-:  
  βα=1b (4) 

 |�&� W$c i��
9 ���0 >�,=	 
3� Q&;9 p�
���2rrx (km)p�
��- :  
  br = floor (rrx b1) (5) 

 l�Xg�V
I ��	
 floor �� #�/G 
3� f	�
O Q��:� 
23a	 ��
��=	 Z (2).  
� ��� ����	 
� �
� ���� �����	 ��
� ��� �� ���
� �rrx:  

 ���!	1 : >�,=	 
3� {�$Xbr K
����	 K� F
&*&=	 Tx2 Rx ��
��=	 ����
��� (5).  
 ���!	2 :o�
�� �;E� F3��,
� >�,=	 QI e.
!9K
����	 K�  Tx2 Rx ^�	 ��0�$=	 j���2 PL�� ��
��=�� >�,=	 �S3�� 

����
�	:  
  ( ) ( ){ }1–,....,1,02/1 rri biid ∈δ+= (6) 

 l�Xδr = rrx/br>�,=	 K� ��G�!�	 �0�$=	 JS .  
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 �;E�	3  
 �	
���� 
� �	����� ��	�� ����Rx ����� ��� rrx ����� �� Tx  

  

Tx

0 d
1

d
2

d
3

r
1

r
2

r
rx

Rx
r

δ

1410-03  

 ���!	3 : �0�$� �- 3��di \�!��	 
3� Phi ����
��� .T,�	 UV W$� s~� QI �;n K�� [,= di ��
��=	 Z �93,- (1).  

  
( )

rx

rxtxi
txi

r

hhd
hh

−−= (7) 

 ���!	4 : ���
X	 j��9Pi���� [,� Q&;9 QI Z ���
=	 )� \�!��"	 �� �MI hi ����
�	 ��
��=��:  

  
( )

22
2/

0

e1

d

γ−−=

= ∫

i

i

h

h

i hhPP

 (8) 

 ���!	5 : .T,�	 UV W$� 
&*2 ���
X	 j��9Plos,i LM&=	 3�� di����
�	 ��
��=�� :  

  { }∏
=

∈=
i

j

jilos ijPP

0

, ....,,0 (9) 

 ���!	6 : �- #�*.
� ���-	.
�	 ���A
�	 j�� �&Ta	 o
9 �� ���MPlos,i #�*.
�	 ����� ���	&� Wi j�� 3�
�9 (R�	 
��.=	 NO �,$���� �0�$=	 . ���X Z F
&*&=	 >�,=	 
3� ����=	 	RS J�	.929 39	d
 39	d
� �C��+�0�$=	.  

  Wi = 2i + 1 (10) 
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 ���!	7 : s$yA
�	 �S.�M �T� ���� ��&��=	 ���rrx �/*.=	 �"��
X"	 L�� P	 o;� �~�
��	 8���
�2 >�,= ���I j��
�$=	 �G�XX ����-	.
�	�2.:� ����/�� )�>�,=	 �0��- Z :  

  
2

1

0

,

r

i

b

i

ilos

r
b

WP

CP

r

rx

∑
−

== (11) 

(&���2 �*R���	 bRS  j��f�&���	 	RS L��&
� m.� F3� ���S2 
&���	 ���:  

t V�9 � (I ��,
�"	 K�� RA��.9f�&���	 	RS Z ��6�7	 89��:
�	 Z  . QI #6	&�	 ��2 L� �	WA
�	 ��� QO2
 ��
�I ��:� �	3�c g��-�&/�� Wh�� �_ Q&;9 QI �;n . f�&����� �G��	 �,�
�	 �	�3M 393� �;n2���&
� 

2 f�&���� ��D�TX�	 �D�T�	 L� ������ F3��M ���
�� W� e�I�	 U�&
� ���� �0�6O i9.� �� P89��:

f�&���	 	RS Z ��,
Vr� g�:V ���� �- �� ���0 s~a	 \�!��".  

t  �C��!��	2 >�,=	 �0��- WA
� W,- 3X NO �� �!�
� ��S��"	 3X�� �	�,�
�	 Q&;� Pp�
���2 �.VI NO ����� ��
.V�	 b��"�� �	�,�
�	 .=	 ����!��	 L9x&� �� j�~
92 JD�TX�	 f�&���	 L� )���� �@r
� " >�,=	 QI �$��=	 >�,

U�$,�	 . �X �;n2 �� W,- U$M �����=	 F3��M �Dd~
� ��;E=	 bRS NO ��&�� ��T}
�2 .AGI i����
����� �;� F
3+ ������. 

t r,�
$=	 \�!��	 L9x&� L,�
9 l�� >�,=	 z&�� m&0 �r,�
$=	 s-.� LM	&�	 Z2 |�,�
9 (R�	 L9x&
�	 8!� �
>�,=	 \�!��	 .e�7	 NO �,$���� g��h \�!��	 3�� 3*&� �r,�
$=	 QI e.
!9 f�&���	 Z2 . Z .V� �X ���
92

3��&���!��	 �� ��� �M&
��2 P>�,=	 L9x&� �� �r,�
$=	 i���=	 `r
V	 j�� )�:9I. 

t  ��9.��	 J���� �T�}
$=	 )	.93�� ���x�	&�� ��<7	 o�� ����� �D�
� L� �����=�� ���A
�� )�/�/Gj�� ��,�=	 
 �����a	 �����=	 F3��M) F.�!�	 .��	4.1.2 . ����� ��,� i��
9 ���0 i�M
 >�,=	 \�!��" J�9	� L9x&� QI K,�2

 l�X �����=	�	 g�2���F
23+ ����� ��	�3P -FWAG ��93�)r��  . P��� j�� F2r�22�&T/�� �D�
� j�� 
 F.�!�	 Z ���,=	 ���A
�	4.1.2 @	.*O Z @�* ��- W$=	 .9.y f�&�2 >�,=	 LM&� F��	.� L� ��9.��	 i�,�� s� P

���	&
=	 �	&��	. 

4.1.2 ������ �� 	
��
��	�������   

g�,�� ����� Z >�,=	 z&�� ����!��" J�-	.
�	 L9x&
�	 j�� J�9	� �A�G �9.:X |,<Z  F3/
=	 �;��=	 )Q.!��� .(
p�
��- ��$�D.�	 �9.:a	 ����=	 Z f�&���	 �����= ���&
=	 o���	 g��- bRS �����=	 ��&�� �,$����2:  

α = 0,11;     β = 750;      γ = 7,63 

 Qr;E�	 K,942 5 �D�
��	 �T�}
$=	f�&���	 ��  . �;E�	 K,924��.=	 \�!��	 ��	3� ���A
�	  �;E�	 K,92 5 ���A
�	 
�,�
$=	 \�!��	 ��	3�.  

 F�-��	 ����
��� �T�}
$=	 �D�
��	 �C���� ^�	 ���;�	 ���A
�	 �9&� 8!�2 J���7	 �;E�	 8!� �_ �	�,�� f�&���	 	RS J��9
\��E�	 o�� ����
� ����T!
�	 .rh j�� )	
��
�	 ���A
��� �	�,�
�	 3�&9 |�I f�&���	 	RS F3D�02 �S.93�� �;n U�0 ������ q

����=	 Q�E� ���&��=	 U$�I .0&� ��9.< (.:X LM&� (�� i��
9 ���0 . F.$�
� g/,GI 
���7	 ��hrh �����=	 QI NO )	.��2
Q	3�,��� �G��	 �����=	 �2	3* 
	3�O �;�=	 �� Q&;9 `&� 39	d
� �;E�/ 3�� L*.�- �_���
�	 �;n ^�	 �!�
}=	 Q3=	

��02.�=	 W� LM	&=	 ��� Z ���A
�	 o��� . LY �;n ��O2 PF3X	2 ���V Z ���A
�	 o���� j�� f�&���	 	RS ����
�	 .T
�9 "2
\&�
�	 �	Wh�� ��� Z �c PFW,- ��;,< ���A
� �9rV F3� �� ����
=	 �D�
��	.  
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 �;E�	4  
 �	
��� 
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5.1.2  ������� �	
��
�����
�� ���� �� ����
� ���  

Q�< �� �9����� �9&�V F3��M ���+ F3� K� ���
V"	 �r,�
$��� #�
� 39d� QIW,- �;E� ���A
�	  . ����$X �rV ��2
 b�3M ��.=	 JD	&_ \�!���� i��
9 ���02 P)r�� \��E�	 o�� �����m 30 P39	d
� ���V Z ���A
�	 �S.�M �T� km 2 �,$��   

%44�
9 ���0  �,$��2 F3X	2 F3��M ��/c i�%80 �,$��2 K
�/c i��
9 ���0 %90 o
9 � QO2 �X ���+ L���� i��
9 ���0 
 �9�� Q��:� )�T�TV F3����	 ����	 @��
�	�9
	.0OF3�* . 

X�	 ��X���	 �� ���
$� ����=	 F3����	 ����	 ��
� b���� .T,�	 UV �	W$� 
&*2 �"��
X	 QI e	.
0��2 ��D�T�;n 
 3X	2 W$� 
&*2 ���
X	 {�$X�M7	 j�� . �- {�$X )"2I K�
92Plos,i ��
��=	 �� (9) .RD3�� 
&*2 ���
X	 #,T9 

 JD.� 3X	2 W$� �M7	 j�� 
3��m?��- ���
�	 F3����	 ����	 �� :  

  ( )∏
=

−−=
m

k

kilosilos PP

1

,,, 11 (12) 

2 K�3��M K
�+ ���	&� ���A
�	 o���� �;n �� �6��
�"�� .�-I 2IPlos,i ��
��=	 Z (9) ��
��=	 Z F���=	 �C
���� (12) Z 
 F.�!�	 Z 
�	&�	 @	.*�	3.1.2 ..93*2 �F��<��P���M �;� i��
9 ���0 o�M ��  k P  F�2.6 �� �	&��	 \�,�	1 NO 5 l�X 

rrx �0�$=	 JS NOF3��M ��+ �- .  
2.2  
���� �� ��
��� ��!���"
#��� $  

 s~a	 QO�� o*���	 ��~<7	 3M�  3)	W�-��3��� �S392d� �;n ^�	 �x��=	 
3� ��  . �� p�
���2(�2.:�	 f�&� .0&� )	3* 
 NO )	.�� P?�,��	 @��A�	 �� �����	 KS&
�	 �3�2 Wh�
� i��
9 |� m&h�� Z P�����	  ��S QI���X  P��.=	 �� �,9.��	 �r,�
$=	

3M ¡�,9 b3�� #,T� )	3X ����� ��3V W0&
� ��0�- W� F3X	2 F.~< ]� ��E
�"	 3�� F��<�	 F�3M.  
 ��D�T�
�	 ��	�
 g��� 3M23�
�� g� Z \��E�	 o�� ����� Q	3�� F3/
=	 �;��=	 Z �3}
$�2 L�Y ��E� ������ 3�	&M 

 ��~<7	2 >�,=	 QI ¡�,9 �� �X%56 ��M	&�	 >�,=	 ��  �3� ��m 1000 �9d-.� F3��M ��+ �� .h�
9 @��A�	 s,$� s~a�� 
?�,��	 .g�62 3M2����=	 Z [,� j��I #�� j�� F3����	 ���	 P 3�� m 40-30 e�7	 #�� m&0 )��&�� W� [,=	 ]
�	2 P

 s~a�� .h�
��&G2 �;�I 	�O  .T,�	 UV W$�NO[,=	 ��� Z ��,
V	 ���� (I  . g��-2 Z L�� [,=�� �G��	 ��,
V"	 %���
�;,< �����.�  ���
�� e.��m 1 ���� j��7 �- U�$� ��[,�  . �3� Z ?�,��	 @��A��� s~/�� �9&¢=	 �,$��	 WA
� �2
 m&!9m 1200 ��9.< )�,9.�� O|��� &S �� j�� F3����	 ���	 \�!��	 @��� .�.V7	 >�,=	 #,T� ��9&��	 ��93=	 Z2 89��:
�	2 

 s~/�� ���C=	 s,$�	 ��6�7	s,$�e�7	 @��B	  .2 3M ����� Z ?�,��	 @��A��� s~a	 ¡���9.:X |,< p	&X %25.  
 3�� �������	 g9.*IGHz 42 �� �����	 KS&
�	 ��"
 393/
� "��~<7	����	  ." &S ��- Q�- U�&
=	 KS&
�	 QI #:�	 3M2

 ��G&
�	 Z )��M&
�P.833 ITU-R NO (
�9 �¤ �	W$=	 F
3�
� FW,- �	Wh�� 
&*2 L� �;� �	3��	 �� �"�X F��<�	 ��
�	 
� L� WA
m	�27	 �.y ^�	 #9.�	 s,$� ��d�	 . U�	.� �0 �;n |�I #:�	2 bRS �	3��"	 �"�X K�D	&S ����
��� z�~��
� ��C��� �T! �0�$�cm 60∼.�-I 2I  . K� 3M2{���
�	.� 2 ]-I )���	3��,
�	KS&
�	 U�	.� �0 Z )���$� )��$y  .92¥� QI ��� 

`2.��	 bRS Z ���3�	 ��AE
� #�$� 3M >�;� `r
V�� JD	&_	 ��D��h ���;E� . 3�� ��.� g��� 3M2GHz 42 ����
��� 
 K�D	&S���C��� �T!�0�$�  cm 62 Z )�¦&/�� )	WA�  �� �-�D	&_	K �$y ���
X	2  Z\&�
�	 . �������	 g���2�*7	 ��9&� 

 �&Ta	 �;n |�I �M�&=	 ��~<7	 ]� ��E
�r� )��&�� s$- j��\&�
�	 Z b�3M dB 10.  
 KS&
�	 Q&;92 ��~<7	 s,$��9.
���=	 ��*&=	 �	&�I 3�� )	393< . �&
+2 ��~<7	 \&� j�� KS&
�	 �3�� 3�
�92

 �;�2 PW$=	 ��3�S2 ��&�.�	n ����
�	 �; �3�=	dB/m 5-4 ���3- ) 3�� L,E� ���X NO �T9 KS&
�	 QI �� o�.�	 j��
 ¡�,� ����� ���MdB 40-20 )��&�� .( ��G&
�	 Z 
�	&�	 f�&���	 ����
��� jG&92ITU-R P.833 �����	 KS&
�	 ��"
 393/
� 

?�,��	 @��A�	 ��.  
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3.2 �%
&�� '
()!���  

 g�X&� �����S��"	 �����E�	 ��2�2I Z F�
�G ������ 3�	&M F3� NO )	
��
�	 �����	 . \��E�	 o�� ����� g���
�	 3M2
 ���A
�	 {�$a)j�� )	
��
�	���
$=	 LM&�2 F3����	 ���	 K� ?�,��	 @��A�	 �� �����	 s~a	2 [,=	 �&
$�  ( ��	3�

 �9	d�2 P�,�
$=	 JD	&S2 ��.=	 JD	&S ����!��	\&����3�	 s��	&X 
3��2 ?�,��	 @��A�	 �� �����	 s~a	 ��§I2  .
?��- JS �����	 s�	&4	2:  

t  JD���
�	 s~X q23X 2I ��0	.�&�&� �D�TV 
&*2 ���X Z �G�V PW,- �;E� LM&=	 j�� ���A
�	 3�
�� 3M
��.=	 �� ��.�� j�� >�,=	 s,$� . g9.*I ��D�T�
�	 ���	�
 F3� g/¨ ��� L�2�9.:X LM	&� j��/�9.:X |,< 

 j�� �&Ta�� �!�
�s$� K� z2	.
� ���A
��� %402 %60 ���' i��
9 ���0 �S.�M �T� km 2 �9��� �� )	��,
�	 
��.=	:  

t  ���A
�	 39	d
��	3�c %1 NO %2F3����	 ���	 �9��� \�!��	 F
�9x �� .
� �;� i��
9 ���0 . 
t  ���A
�	 39	d
��	3�c %3 NO %4���
$=	 LM&� �9��� \�!��	 F
�9x �� .
� �;� i��
9 ���0 . 
t  Q�< �� �9����� �9&�V F3��M ���+ F3� K� ���
V"	 �r,�
$��� #�
� 39d� QIW,- �;E� ���A
�	  . �,$���,0

 ¡�,� ^�	 ��.=	 JD	&S ����!��	 NOm 3039	d
� )r��  ���V Z ���A
�	 �S.�M �T� km 2 �,$�� %44  i��
9 ���0
 �,$��2 F3X	2 F3��M ��/c%80 �,$��2 K
�/c i��
9 ���0 %90 @��
�	 o
9 � QO2 �X ���+ L���� i��
9 ���0 

 �9�� Q��:� )�T�TV F3����	 ����	�9
	.0OF3�* . 
3  �������� 	
� �
���� ����  

�.�
9 �=�X���	 ���	 b���� {&~+ W� .T� UV |93� ���
$=	 QI  .a	 @�:!�	 Z ������ oDr�  ��S L� F3�#,T9 �� 
��	&_	 Wh�� ��,
�"	 Z RV�9 QI j�� F.$�
� ��3�	 |�0 Q&;� (R�	 gM&�� �9&¢=	 �,$��	 {�$X �xr�	.  

 i��
9 ���02(���� �;n PF3����	 ���/��� ��3�	 ����� Z ��G2 .930&G&=	 iD	.��	 ���	&� ��	&_	 @��hI .$�
�	  Z �
 ��G&
�	ITU-R P.530.  

1.3  ������*��+��,�-�+�   

 �c )���0I ���
�� W� ����7	 QI)�93�� Z ( ��G&
�	 Z `&G&=	 
���7	 (
�XI f�&���	 Q©0ITU-R P.530 i��
9 ���0 
&=	 �rG&�	 j�� |��,�� �;n " ���� NO ���� �� �rG&�	 Z .h�� ^�	 ���
�=	 W� ����7�� �����2 �
��h ���� K� F
&*

����� . 
���7	 JD��h ���
�"	 �3� F��	.� �;n2 	RS L9x&� i�,�
� U�&
� (.� ^�	 .�=	 ���V j�� ����7	 %&�� �3��
�C
�	�
 . �S.�M �T� �9d-.� �9RA
� ���V NO �,$����2L �;E�	 Z 
�	&�	 >��,�	 o�.�	 ��n P63� ^�	 �¢0�;=	 ����=	  �S


 .���	 �T�d0 �9&¢=	 �,$��	 @��hI ���A
�� e.�
9 (R�	  F��
}=	gM&�	 ��.  
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 �;E�	6  
���� $#�% & �'(	)�� ������� ����" ��* +,- �./ ��0��" �����1 ��23� 4�5  

 

L

d0

����� ��� 

1410-06  
  

 @	.*O L62� �9�	
	.�	 �������	 NO 
��
�"�� ���A
�	 ����c �,�
� �3� j�� F3/
=	 �;��=	 Z g9.*I ^�	 ����7	 %&�$�
K
��.  

 ���V NO �,$���������� ����	
 �S.�M �T� L (km) �����	 &,V  ��S2 (dB) F�0�a	 3�� :  

 ��
��1 :����� Z .�=	 �&�_ U�&
=	 �3�=	 j�� �&Ta	��  Ra ( p) �rV bx2�� o
9 (R�	 %p gM&�	 �� �� �;,< 
� �� 8�9�� P.�=	 2I �����y f��� ����
��� 2I .�=	 ����� �	
	�	 �&�_.�= . �234	 Z 
.922 ���0 ����=	 bR_ ���� 

F3/
=	 �;��=	 Z �C��� �&Ta	 ª �	
	.�	 j�� ��D�M �����c i��
9 . P����� ���� Z .�=	 �&�S �3�c i��
9 ���02 «Xr9
	 �&�_ U�&
=	 �3�=	 QI ��¢6 �;E� �!}�9 ����� ����� Z .�= �9&� 3�� x2���	3�c %0,1 l���	 p	&X2 �9&� 3�� 

 x2���	3�c %0,01 �T��	 p	&X2 �9&� 3�� x2�� �	3�c %0,001 NO �,$���� �S.�M �T� �9.D	
 ����� km 2,5.  

 ��
��2 : L���	 �0�$� 393yd0 @��hI �9&¢� �,$� %p�� ���&
� ��� Z  ��
��=	 �X i9.� (13) j�� �&T/�� d)�9
3�   

  

( ) ( )( ) FLdpRddpRk
aa

=+−+ −α )/log(20)(log)25.22(1.15.1)( 04.0
 (13) 

 3�� l�Xk2 α Q�
����Q	
3y .�=	 �� �����	 J�&��	 KS&
�	  ��G&
�	 Z 
�	&�	 ITU-R P.838 .W,�
�	 ��n2   
(1,5 + 1,1 (2d – 0,04 – 2,25)) log(Ra ( p))�$a	 j�� i,��=	 W$=	 ��!� ���� ����=�� �G��	 ���.  

 ��
��3 : L���	 �0�$� NO �,$����d0 ∝ (L, p, F)p�
��- ����	 bR_ ����=	 ���A� Q&;� P:  

  ( ) %100,,

2

0 






=
L

d
FpLC (14) 

 �234	 �3�92 ����� ����� Z .�=	 �&�_ U�&
=	 �3�=	 �� )"��� �� ��}
$� �;��=	 Z �	
	.��� 3G.�	 ������ 
F3/
=	 .2��}
$9�	
	.�	 ������ �� ����� ����� Z ���&
=	 o���	 ��R-2 ����� ���� Z .�=	 �&�S �3��  .2«Xr9 

�����	 ����� g�$�	 ���- �:!}�� �"3�� .C�� ����� ����� Z ���&
=	 o���	 QI . �;E�	 K,927 ���0 @	.*�	 �D�
� 
 �- .�M �T� ¡�,9 �9d-.� �9RA
� K
��' i��
9 ��C�� F3X	2km 2,52 km 5 3�� (
&�� {���
�	 ����
��� K�����2 

GHz 42 P���I j�� b�3M .�=	 s,$� KS&�  ��S 102 dB 15����	 �0�X 3��  . e.
!92 Z s$- QI )�:9I 
3T�	 	RS
 ��.=	 JD	&S¬2�$
�K���
$=	 L�Y NO �,$����  . j�	.�2 ����$a	 Z.a	 @�:!�	 Z F��$�	.  
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 �234	2  
 ����� ���� 	 
��� 
��� 
��� ������ ����� 	 ����������� ����� 
�� ��  

������ ��!��� 	 "��� #�� $!� �%��� �&'�(�'  

 �	��
 ��

 ���

 ����
 ����� ����R 

(mm/h) 

 �
 ������ ������
����� 

 ���� � ���� ���� ��


 ����

R 

(mm/h)   ����� ��� =km 2,5  ����� ��� =km 5 

0,001 65,6 36,0 33,0 

0,003 46,2 29,0 23,4 

0,01 29,9 19,4 17,1 

0,03 18,1 16,3 12,6 

0,1 9,8 9,5 8,5 

0,3 5,0 4,9 4,8 

1 2,0 2,1 2,1 

  

 �;E�	7  
 !��"#� $���%) �&�'� � (*+���� ���� ���� ��

 ,-��

 �-.
�	-/(2  

100 
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40 
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10–1 1 10–210–3

����� �� �	�
�� ��
���
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 �
��

��
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��
�
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)

 ��� ���

 �����(km)

�����
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2.3 )
�*� +��, "%-  

)	W,- )	WA� Q�;=	2 gM&�	 s$X )���0I2 )�9
&�� ��	&_	 WA
� . F3X	2 ��G&� i��
9 ���0 ����a	 �*R���	 Z WA
�	 	RS j�	.92
 ���2 PK0	.�� K� )r�� K�3��M K
�/c �G&�9 QI |�;n )r��
$� QI e	.
0�� P���!�	 W$=	 �&� ����
��� Z .�-I 2I

gM2 (I .29RS z.E	.!�	 \�����	 	RS ��� s�-.� ���X Z .$�
�	 K$y �;n �3� (I NO .  
 P)	3X	2 )r,�
$�2 K��.� ��E� �9d-.� F3��� J�­ U� �� �;,< e.
!�2QI e.
!92W$=	 p&� 3X	2  z2	.
9 l�X 

 K� (2	d�	 �T!�	°02 °360.  
�� W� .�=	 �&�S QI NO )	.�� NO �,$���� KS&
��� ����
=	 �	@�TX�	 Q©0 )���0I o�
=	 W$�	2 3�X& NOW$�( Q&;� \&�
�	 

�!�
� . �;E�	 K,9282 J�+ W� W$� ]� KS&
�� ��*�&���	 �	@�TX�	  ]�W$�(�3�=	 \&�
�	 K . Q�
�
��=	 `.��2
;n (R�	 (2	d�	 �T!�	 NO 3D���	 K$/
�	 Q�
���
�	 \&�
�	 K$/
� |�� W,�
�	 �I(A) \&�
�	 s$- 2I G(A):  

  

)(

)(
)(

AP

AP
AI

d

= (15) 

  )()()( tAtAAG d−= (16) 

 ���Pd (A) �� ���	 
��
 ��� �
�� ��� �����
 �
���
 ��� � ��
�
 �� ��
!�
 �����
 "# A �$%& P(A) ��
!�
 �����
 '( 
�)
 �* ����� ��
�
 ��" .�$% +,�- /
0* ���& Ad (t) '( ��
�
 �� ��
!�
 �����
 123 45�
 �����
 �
���
 ��� � 
��
 ��� t 

 1678�&A(t)"�)
 �* ���
 .  

 �;E�	8 

-�01 �2 �-3
! ����/ 4����� ,�5�����6�.7� 8&�9��   

G

I

������(dB)

�
��

�� 
�
� 

�	
�


�� 
��



���
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 s$- s$�\&�
�	 G \�,���	 �	&��	 ����
�:  
 �����1 :
3y �92	d�	 θ K� =	 �9W$dmax2 dmin.  
 �����2 : {�$XGsym�� :  

gb
maxgsym daG = 



   �������ITU-R P.1410-3  13 

 �&��	 ��	3�dmax K����=	 ����
���2 ag2  bg �234	 Z �9
�	&�	 3 ��
}=�rG&�	 .$�
� �9&¢=	 s$��	 .   

 �234	3 

������ ��	
 ����
�� ���� ��
�  

����� �(%)  ag bg 

99 0,123 1,366 

99,5 0,218 1,308 

99,7 0,342 1,259 

99,9 0,648 1,173 

99,95 0,810 1,165 

99,97 1,132 1,169 

99,99 2,041 1,077 

  
 �����3 :�� " ���� {�$X� W$=	 �9.¦a�� :  

  

d

min

max

d

d
ca

−









= (22) 

 Qr���=	 
.9 l�Xc2 d  �234	 Z4.  

�234	 4  
����� ��	
� c� d ����
�� ���� ��
�  

������ (%) 

c d 

99 0,907 2,852 

99,5 0,946 2,976 

99,7 0,969 2,761 

99,9 0,971 2,821 

99,95 0,930 2,347 

99,97 0,905 2,316 

99,99 1,000 2,270 

  

 P�92�$
=	 W$=	 �	&�I NO �,$���� Q&;�a = 1.  

 �����4 : s$- Q&;9
�	\&� Gp�
��- {&��=	 .$�
�	 3�� :  
x

symasinGG 






=
2

θ
(dB) 

 l�X� j��x����
�	 ��
��=�� :  

55.0ln87.0 +







=

min

max

d

d
x  for 1 ≤ (dmax/dmin) ≤ 2 
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2 �$y s$�\&�
�	 I�� \�,�����
�	 �	&��	 :  
 �����1 :
3y  �92	d�	θ �9W$=	 K� dmax2 dmin.  
 �����2 : {�$XIsym�� :  

110
)( −=

ib

iLa
symI  

 Qr���=	 
.9 l�Xai2 bi �234	 Z 5 x2�~
� �9&¢=	 s$��	 ��
� 3�� KS&
�	 	 ��gM&�.  
 �234	5  

����� ���	
 ���
������ ����� �
��   
����� ������ ���!�� �� "� #�� A  

�����  
 (%) 

ai bi 

1 0,082 0,491 

0,5 0,114 0,431 

0,3 0,106 0,535 

0,1 0,155 0,559 

0,05 0,196 0,566 

0,03 0,324 0,406 

  
 �����3 :�� " ���� {�$X� W$=	 �9.¦a�� :  

  

d

min

max

d

d
ca

−









= (22) 

 Qr���=	 
.9 l�Xc2 d  �234	 Z6.  
 �234	6 


����� ���	 c� d ���
�� ���� ����� �
��  
 ������ ���!�� $%&� "� '()*�#���  

�����  
(%) 

c d 

1 0,851 2,355 

0,5 0,961 2,493 

0,3 0,882 2,288 

0,1 0,768 2,631 

0,05 0,762 2,198 

0,03 0,858 2,427 

  
 P�92�$
=	 W$=	 �	&�I NO �,$����Q&;� a = 1.  

 �����4 : �$y Q&;9\&�
�	 I	 3�� p�
��- {&��=	 KS&
�:  
x

symasinII 






+=
2

θ
1  
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 j��9 l�XxJ�9 �c :  

84.0ln61.0 +







=

min

max

d

d
x  for 1 ≤ (dmax/dmin) ≤ 2 

QI «Xr9 iD	.��	  �3�I�;��=	 Z �	
	.��� F
&G.=	 ����7	 �&�S �"3�� NO 
��
�"��F3/
=	 .  
4  ������� ��	
 ���
  

9RS �2��
	.!�	 \ �	W$� F3� ]� ��E
�"	2 ?�,��	 @��A�	 ������93� ��2¯
=	 �	Wh�
�	 )��6�7	 89��:
�	2 >�,=	 ( F��M j��
W$=	 .U�0 
�<��	 ��,� j�� F.$�
=	 �����	 �D�
� j��� P)����X �X�
=	 �����=	 F�3�� )	.��2 .	 �;n2 j�� �&Ta

 ����
=	 ���&��=	WA
� �.y �rV �� ��E
�"�� i��
9 ���0 (����=	 `	.B"	2 F��<�	 ?�,��	 @��A�	 ��G&
�	 Z   
ITU-R P.833.  

1.4 +��!�� ,�-.�� /0 )1���� ((2�
� 31���4� 	5�6  

g9.*I���M �� m��� e.� Z ����°� #�<	.� ��&�� ���	&� MHz 34	�
 `3±  JD��
�	 KS&� q23X ���
X	 ��
F����	 ]� 

.
�� . �CM��� e.� ¡�,9 �	&�M >�² #�<	.=	 ��&�� g��:�2MHz 1,6) (dB 3- �C��� �T!92 MHz 3 

g�62F����	 U�2 Z .  
 �0�$� 3�� ��&
,�	 \&� �� F.~< @	�2 �������	 g9.*I 3M2m 15 b�3M Q��
�	 �G�0 L� ms 100 .
&*2 �3�� )	.��2 

 P�����	 F.
0 �rV z�9� �.* F�-�+Wh�� ���	&� #9.�	 F.~E�	 �± d
³ ��,X . �;E�	 Z 
.929 ��9&� K� ������ 
�9&M z�9� `2.¦ Z �	&���	 F��<O . W,- JD��
�	 KS&� 
&*2 �3�� F����	 ]� �&/�=	 WA
�� �:!}�=	 �9&$�	 JX&�2



.
�� .$� ¥�d�	 WA
�	 Q©0 p�
���2 m	�27	2 Q�T�7	 �0��- �� 2I s~a	 WA� �� )���� Q&;9 3M F��<�	 �9&��M	&�	 K� 
)	3* )r�¢6 ��E
�"	 gM2 Z `r
V"	 Q&;9 l�X �	W$� F3� ]� ��E
�"	 s,$� 2I P��.=	2 �,�
$=	.  
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FIGURE 9

Comparison of the signal level of the channels during very windy conditions
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 F
�9x2 Z ��,
V	 g9.*I �¦&/�=	 �D�
��	F�3��	 ���:� ����
��� ��.� �&T��	 (MPC) ��C��� �T!9 K9
.0 K�D	&S2 cm 72 .
2(.*I (��,
V	 ����O MPEG-2 TV 3�� GHz 42 i$��	 ����
��� DVB-S)  �3�� �T�� ��}�� J���7	 #�/T
�	

�&��	 �XdXd� J���.
�	 ��;E
�	 .(�622g ���:� �rV �� ���
}=	 �	��<�	 ��R-2 JD	&S �- �� F�
�T�	 �	��<�	 
 F�3��	�&T��	 ���M.�	 �9&93�!�	 ���	��	 ��3�	 Z �9&93�0 s�M	.�2 F.!E�	 �!� i9
��G �hrh Z (DVB-S) . 3M2 g,T�

 J;� FdC*7	�D	&_	 r- �,�
$9K��~<7	 Q�T�I �rV �� �	��<�	 �-./
=	  .r- ´�� 3M2 ��  J����DVB-S 
 JD	&_	 (3�X2���
�� F��$V ����x.�	 Z  .3�� Q�-2� )	393< ��x.�	 F��$V �l� �¤ W!E
�	 �;!c |/�/T� s�T9 

F�.;
� �9&93�0 F��$V s,� . F�3��	 ���:� ���	&� ���
}=	 F��<�	 g��� P��� 8;� j��2�&T��	 ��x� F��$V �� 
 W!E
�	 �;!� \��
�	 p�
���2 �:!}��MPEG-2 �¦2 ��� �� �9&�
�	 �� �����	 (&93�!�	 µ)	.�
$�.  

2.4 7�8�9�4:� "� ;6�!�� 7�<�� ')� =� >�?�4:�  

1.2.4 @��?�� �8> ��!�6 ;1��4  

 g��� ������ ����M 23,� �	W$� F3� ]� ��E
�"	 ��;E� QI \��E�	 o�� F�-�+ Q�E�	 Z �����	 �AE�� ^�	 `2.��	 Z
�C�¦P QI2 )	3* ���:�	 �,�
$=	 JD	&S ��dX  s,$�<°� )	3* )	W,- )���S&��	W$� F3� ]� F.E
�=	 �	�� . ��<7	2�����
�	 

)	3* ��/:�	 JS e�7	 ��2 F�2��	 z&�$�	 �� ���,�=	  �S3X2 �,�
$=	 NO {.$
� ^�	\�$�"	 �� �± ��� " �*�3� .
 P��R� �~�
�2Q©0 ��E
�"	 gM2 393� o�M �¦&/�=	 �!��6 F�-��	 ���	&� )	3*.  

 ���3���=	 ��<7	  �C�;n )	3* ����M LM	&� ���S QI ����$�	 ����7	 ��� g��� �;�2 \��E�	 o�� F�-�+ @��hI �*.
�V	3
�� )	�3T� �*.��=	 ��<7	 �;E� l�X ����M LM	&� ���S Q&;� QI #*.=	 �� p�
���2 P�*.��=	 ��<7	 ����
�	.  

 P���=	 ��,� j��2g9.*I
�"	 gM2 393� \��< o�.� ����$X  FW,- ������ F3��M ����
��� �r,�
$=	 LM	&= ��E
)F3/
=	 �;��=	 P
�&!$-2I .(��M ����$a	 bRS g��I 3M2)� ]� ��E
�r� )	3* �:!}�=	 ��9&$�	 s,$� �9�A�� �:!}�� 

�	W$� F3� . ���&
=	 �����	 QI «X&� 3M2����!�	 p	&X gA�� ��E
�"	 gM2 393�
� 0,01 ns �� &S2 P�
��9 e.� )�,9.�� 
 b�3M ����
�� m���GHz 15 .m����	 �9.� (&9
	� ��!� ���� NO �,$���� ��;E� ��� �;E9 ��2 .2 ��3�,
$=	 QI 
 �����a	 �����	 Q&;�����!�	 �:!}�� ��E
�"	 gM2 393�
� LM	&�	 Z 3a	 	RS NO F�&-R=	 �*.��=	 ��<7	 s,$� ���2 

 �;n �;�2 Pbr�I�M	2 )�� NO �T9 ����
�� m��� e.� ��,
�	GHz 5 . (����=	 `	.B"	 ¡�,92����!�	 ������ gM2 393�
� 
 p	&X ��E
�"	ns 0,01.  

2.2.4  ;1��4 "�7�8�����  

 >�,=	 �� �����	 ����;��"	 ��,
�	 �;n= ����;�O ����c2 s~a	 ����� @� ����c 3X j�� ��6 �	W$� F3� ]� ��E
�	
@	&� . b�3M 

.� 8�- ����
��� 3G.�	 ������ ��� g��� 3M2MHz 80 F��<� ��,�
$=	 LM	&=	 
3� F
�9x �;n |�I 

 �,$�� ���A
�� ��Dr�%9�$;��=	 �	��<�	 �0�6©� ���2  . ��� L�2JA,�9 W0&
� �$;��� �	��<O ����
�	 QI ��Xr� 
�-�E� F3� W�9 ����� ��3V .;� QI s� )"2I F��<�	 Q&F.�
$� ]� W$� 8-���	 @JE�	 NO 
2�&�	 F��<� Q&;9 QI (I 

.T,�	 UV.  F��<�	 .C�
� �-.a	 s,$� s~a	 NO e.�
9 QI ��
� )	W$� 2I ?�,��	 @��A�	 W$=	 �� @d* (I ]� 	�O2 
)����x )	WA� �����	 .2 )��D	
 |�	� 8-���	 @JE�	 Q&;9 QI s� )����h2.�
$�)	.  

 Q&;9��&EV2 �X�$=F����	 

.� ���~
�	 j�� �9�A�� W,- Wh�� 8-���	 [,=	 #��  . �;E�	 K,9210 F����	 ���~
�	 
�!�
� �$;��� �	��<O qr�� i��
9 ���0 �$��=	 :�� ��V3� �� ������	 F��<�	2 L�T� FR0�� �� N27	 F��<�	 ?��¶ (� �d

 �0.<)�=	¶± )�:9I dC� �dJ��9 Q&9d!�
� JD	& (�Dd~
��� L�,�� W,- [,= f&¤ >3�� �	3* �C$;�9 ������	 F��<�	2 .2.93* 
� [,=	 	R± i��
9 ���0 ��Xr=�I)�92�.� )�92	x )���;��	 8��2 )	
3¤ )�92	x )���;��	 J��9 f&�=	 >3�=	 �	34	 Q . �0�$=	 gA��2

 ��.=	2 LM	&=	 K�km 1,342 km 1,572 m 616p	&
�	 j�� .  
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 �;E�	10 

��	�
 ����
 ���� � ������ ��������� ������ �������  

  

«Xr=	 �� )�92�.� )	.T�� ��:
�2 �/�$� F�.�- `.T
� �·7 ���� F�&T� ���
�� 

.� ���~
�	 .0&� L�T=	 FR0�� QI 
)	3X	2 . KX Z.C�9 �	34	  )�*&� ��V3=	2 f&�=	 >3�=	¤)	d� W$=	 p&� Z `r
V"	 ����9 ) e	.
0	 j�� f�&�

�9W$c (�	3�c m 62 m 60p	&
�	 j��  . P��V3=	 ��;���� i��
9 ���023M �&� �d�9  �0�$� NO W$=	 \��
*	 ��;��"	
 3�� L�9 .V� @J< �� ?�
=	m 30��V3=	 @	�2 )�,9.��  .Z2 �&� `r
V	 j�� �&Ta	 �;n f&�=	 >3�=	 �	34	 ���X 

 W$=	�	3�c m 6 U�0 8��2 �	��<�	 ��;��	 Z oS�$9 QI �;n |���;� [,=	 QI NO )	.�� P|�	� �	34	 @	d*I ��
� �� 
FWAT�	 �92�.=	 ����=	.  

 3�� )�9
&�� �,��
$� F��<O ����
��� 

.
�	 8�- �����M QOGHz 26 K� z2	.
� ��;��	 �9	2d� g9.*I ^�	 °87,52 °89 
)�	34	 #�� L� )�,9.�� 3���
� �;E� (I( b�3M )���&
� )���S&� g��� PdB 7,5 . 8!� Z Q���9 �,�
$=	2 ��.=	 Q�-2

Q�;=	 .2gX2	.� �� Q	�34	 �X ��0�$=	 m 37 NO m 402 .	�34	 �X�$� Q&;
� Q�,� ����I g���
�	 3M2 Q �C�0 ��
 Q3�=	2 3��.��	2 f�*d�	 #�$�	 ���
�	 �3� z2	.
9 p�
���2 K�cm 32 cm 75 .2� .93* JD��.C;�	 ���	 |~
� QI ��Xr=�
Q	�34	 L� )�9x	&
� Q�- . �;E�	 K,9211����;��"	 s,$� F��$}�� )���-	.� )��9x&� .  
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 �;E�	11  
 ����!	� "#$����� �%&�����'�(��  )*+�,-
 .��/0 1	* �������  

2 ���3 /(* 4����GHz 26 

  

5  �������  

 j�� �9&��	 �9&9
	.�	 ����7	 o�T� U� K� i�0&
�	 ���I @�6&:�	 NO ����a	 �*&=	 �,$�2 

.
�	 ����
�	 F
��OC/I .
 3M2	 �,$� �� ´
I 3X NO .�7	 f�
�NO ����a	 �*&= s$X (I P¬e.� �;E� ���9 QI K�� ����� [$
9 J- @�6&:�	 

 ���&�@	
7	F
3�	 .  

 �� {&��=	 ´
7	 3a	 @&6 Z2 ����
�	 F
��� o�
�� f�&� L62 �C$�	 �� #,T9 @�6&:�	 NO ����a	 �*&=	 �,$�
� J!9 

.
�	e.A�� .�"	 Z ��6�7	 89��:
�	 �D�TV RV�� QI JA,�9 ��� L�2 ��,
 ��- F3����	 ���	 LM&� ���
V	 JA,�9

 ���&� j�� �&T/�� �9����@	
7	(&9
	.�	 ��!��	 ����� ��&��=	 .  

 Z2�"�a	 o���`	.�=	 JD	&S ��dX i�6 s,$� K���
$=	 �� ��M �&� ��R� .h�
9 ��  .29 z2	.
e.� K� �da	 °22 °3. 
�� Q&6.�
9 3M �9R�	 K���
$��� �,$����2 ��G&
�	 Z �0&G&=	 f�����	 ����
�	 �;n Wh�
ITU-R P.452 ��G&
�	2 ITU-R P.530 

.93�
�=	 �,$��	 ¢ �9&	 �� F��<�	 |�0 l�,�� (R�	 gM&�f��V F��:�	 Fxd�=	 F��<�	2 .T,�	 UV j��.T,�	 UV Pp	&
�	 j�� P 
�V	3
�� �,,$=	 F3����	 ���	 �� . �;�2 .0&
� " m&0GHz 37 3�-�
� ������ (I P �/G o���	�,�
=	�± .  

�.* ��	�
 �� �����	 �����=	 ����
��� �V	3
�	 ��;E� o���� 111 ����� F3/
=	 �;��=	 �± g��M ��¸ �rV )��M&� 
 ���A�����������  .2�.*�V	3
�� ��
+ �3T�- .V� ��.� ��	�
  .,�	 U�0 3X	2 LM&� ���� �����=	 \&�� ��2 q��

_	 ��dX �/
0 Z @�6&:�	 �,
� �C
9&� m&!� {&��=	 W� ��.=	 �� F��<OP{&��=	 ��.=	 &B 
3$=	 JD	& bRS Z �X2 
 F��<�	 NO ��&��=	 F��<�	 �,$� QI «X&� ���a	��&��=	 W� gA�� dB 15 . K� ���0 �V	3
�	 QI 3-�9 ��� QI 23,92

 Q&;�� �9r�	)�!�!�7	 j�� �,�
$=	 ���D	&S ��/
0 i�6 s,$� #*�.  

__________  
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